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Provided that he placed it upon the skylight

OVERVIEW

The X713 cited a mawn which stated that if the stone of w7pi was built into his house
he is not 2¥1n, unless he lived under it for the equivalent value of a 717D MWw. 2RAW
qualified the ruling of this mawn that it applies only if he placed it upon the 7217X;
otherwise, if he built it into the building proper, he is ¥ even if he did not live
there for the value of a 7vId MWw. Our MooIN cites *"wID on this matter and
disagrees with it.
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»"'w9 explained that since he did not build it into the building (but merely
placed it 727X 9"V) so there was no change in the stone (it was merely moved
from one place to another), therefore he is not ¥ (by merely placing the stone
72178 9"V), unless he dwells underneath it for the value of a 5™w.

nooIn asks:
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And it is astounding! For even if he built it into the building, he still does not
acquire the stone (that it should be considered 12°vn), for this is considered a
change that reverts back to its original status —

mooIn proves this point that if it is a \n>72% NN W, it is not ANP:
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As X995 11 states in X»p 917 P19; ‘this one who stole silver bullion from his
friend and made it into coins, did not acquire the silver through this change’ 2"
explains -
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What is the reason this "12°% is not 71p; for he can go back and make the coins
into silver bullion again. This change is not permanent; it is 1172% 711n. This proves that a

X At
% mooin assumes that (according to @A) setting the stone into the building is considered a »1w, even though there
was no physical change to the stone itself.
? See “Thinking it over’.
* Therefore the thief must return the coins and not ‘merely’ their value, since he was not 7111p the coins.
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IN™73% NN MW is not anp.>

SUMMARY

According to *"wn it depends whether it is part of the building (7%°¥n w°), or not
part of the building (72°yn 1°X). According to m»on it depends whether there was a
change in the stone (72°y» w°), or not (72°¥y» PX). A ™22 NN MW is not
considered a M11°w and is not 711p.

THINKING IT OVER

mooIn challenges *"w1 who maintains that by a n>12% nm 1w there is a 210
72°yn, from the fact that by 7213 a 125 A7 "W is not anp.° Perhaps 72°vn is
different from 751 and even a I1m7 "1 is sufficient for there to be a 79°vn 21?1

3 See the w"X7 'on in the N¥PR 0w that (according to MoOIN) by 721X 92 117 there is no 77°vn since there was
no change in the stone; he merely placed it atop the skylight (and the same would be true had he placed the stone in
the building itself if he did not make any changes in the stone). However when he builds the stone into the building
he needs to cut the stone in order that it fit properly in the wall, in that case it is a 2% N7 WX "W and
therefore there is 72°¥1 even without living underneath it. See ‘Summary’.
® See footnote # 3.
" See 717 nbr1 and T MR D1 ' WAL
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